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3z LR B— B 43 41 84 13.2 70.8
A1 35 37 72 0.0 72.0
511 EBE ER R 40 38 78 6.0 72.0
6111 TR O/ B 45 39 84 12.0 72.0
711 B A B 42 42 84 12.0 72.0
811 Ef EE Bk 40 44 84 12.0 72.0
iz BER 1E— B 45 38 83 10.8 72.2
1013z FE 28 B 43 46 89 16.8 72.2
11131 BRIER i B 44 43 87 14.4 72.6
12131 FE B B 48 45 93 20.4 72.6
1311 40 40 80 7.2 72.8
14431 EBE AR B 44 42 86 13.2 72.8
15111 BrIER  HA— B 43 43 86 13.2 72.8
1611z 72107 N = B 46 52 98 25.2 72.8
17131 afE == B 38 41 79 6.0 73.0
1811z wEE —= B 44 46 90 16.8 73.2
19131 ket (& B 42 41 83 9.6 73.4
20111 BRIER RE B 47 48 95 21.6 73.4
21131 NS i B 46 42 88 14.4 73.6
22111 WK B— B 43 45 88 14.4 73.6
23111 N KT B 41 38 79 4.8 74.2
24011 hgE MBS B 40 39 79 4.8 74.2
251 B BE B 40 45 85 10.8 74.2
2611 = ZRER B 46 39 85 10.8 74.2
27131 40 45 85 10.8 74.2
28111 EBE ZE B 48 43 91 16.8 74.2
29111 EE B B 46 51 97 22.8 74.2
30 BER IER B 40 44 84 9.6 74.4
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3114z TE €% £k 48 48 96 21.6 74.4
321 BIES =ELE £k 42 41 83 8.4 74.6
331z FEE REB £k 47 48 95 20.4 74.6
3441 BE B £k 50 51 101 26.4 74.6
35z HE £ £k 38 38 76 1.2 74.8
361z =B #a £k 40 42 82 7.2 74.8
371z 42 40 82 7.2 74.8
381z =24 B k& 41 41 82 7.2 74.8
3911 B #Fx Bk 39 42 81 6.0 75.0
A0z B BE Bk 38 43 81 6.0 75.0
4141 T B k& 44 43 87 12.0 75.0
4241 kB =E Bk 51 48 99 24.0 75.0
431 KB BR £k 51 41 92 16.8 75.2
A4f1 BEE B=% Kk 43 36 79 3.6 75.4
451 g BB Kk 38 41 79 3.6 75.4
A61L kB B¥ Kk 42 43 85 9.6 75.4
4711 T fEEL B 43 42 85 9.6 75.4
481 gl RE Kk 45 46 91 15.6 75.4
4911 46 45 91 15.6 75.4
501z B4R BX £k 56 53 109 33.6 75.4
511 e MR £k 44 40 84 8.4 75.6
521 FE = Kk 42 41 83 7.2 75.8
531iL HO %% Kk 41 41 82 6.0 76.0
Yiiva NS Kk 44 44 88 12.0 76.0
551 B4R BZ k& 42 46 88 12.0 76.0
561iL A =i Kk 44 44 88 12.0 76.0
b7HI ERE &ul £k 42 45 87 10.8 76.2
58I 2R B Kk 43 43 86 9.6 76.4
591z (s & £k 46 46 92 15.6 76.4
601z N/ B k& 49 49 98 21.6 76.4
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611z il fE=F B 40 45 85 8.4 76.6
62{iz ZhE TTE Bk 45 46 91 14.4 76.6
6311 46 45 91 14.4 76.6
644z EBE BE B 52 45 97 20.4 76.6
6511z BR &S R 44 46 90 13.2 76.8
6611 48 48 96 19.2 76.8
671z EAR R— B 53 61 114 37.2 76.8
681{iz AR B B 43 45 88 10.8 77.2
6911 EEE BETF B 46 47 93 15.6 77.4
7013z ®E Ex B 47 46 93 15.6 77.4
7143 N EFE BKRED kR 58 59 117 39.6 77.4
72111 EA B B 44 42 86 8.4 77.6
73{iz r=p B B 41 45 86 8.4 77.6
74431 51 47 98 20.4 77.6
tivi EAR =— B 47 43 90 12.0 78.0
7613z Bl RIT B 46 44 90 12.0 78.0
771z EBE E— B 46 50 96 18.0 78.0
781z BR BXE B 46 48 94 15.6 78.4
79z EaAR E B 50 44 94 15.6 78.4
80fir =R =83 B 52 54 106 27.6 78.4
8111 BE B 48 45 93 14.4 78.6
82111 7o T B 50 47 97 18.0 79.0
83fiL FE F3 B 47 49 96 16.8 79.2
84411 47 48 95 15.6 79.4
85fiL FE Buf =3 43 51 94 14.4 79.6
8611 EBE EZ B 52 54 106 26.4 79.6
87111 BE B 49 49 98 18.0 80.0
88fiL WA 3k =3 53 49 102 21.6 80.4
89fiL ELAR xR B 58 49 107 26.4 80.6
901z 51 49 100 19.2 80.8
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9441 66 70 136 50.4 85.6
9511 NEFEF HAE £k 59 48 107 20.4 86.6




